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CERTIFICATE IN SHOE UPPER 

co 
	 STITCHING (CSUS) 

O 
	

Term-End Examination 
O 	

June, 2012 

OET-021 : BASICS OF SHOE UPPER 
STITCHING 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer all questions. 

SECTION — A 

1. 	List 5 points about the following three types of 

machines : 	 10x3=30  

(a) Flat bed Machine 	 10 
(b) Post bed sewing Machine 	 10 

(c) Cylinder Arm sewing Machine 	 10 
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SECTION - B 

(Short answer question) 	7.5x4=30 

2.  Explain lock stitch in your word's. 7.5 

3.  Explain five safety point to be kept in mind during 

stitching. 

7.5 

4.  What is Skiving ? 7.5 

5.  What is the difference between foot and last ? 7.5 
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SECTION - C 

6. 	State true (T) or false (F) in the following : 	10x2=20 

(a) When stitching peaks or corner's you should 

always stop with the needle in the up 

position. 

(b) When stitching the end of any piece it 

becomes more difficult to control. 

(c) Locking of the stitching is the same as back 

stitching. 

(d) Back stitching is to be two stitches minimum 	2 

and three stitches maximum. 

(e) Brooklyn seam is a type of closed seam. 	2 

(f) When the piece being stitched is longer then 	2 

the under piece the end must be back 

stitched. 

(g) The eye of the needle should be and 3 mm 
	2 

below the point of the shuttle. 

(h) If the thread is pulled from the left that is 	2 
the beginning side the stitch formation will 

unravel. 

(i) Stroble machine produced stitch for motion 	2 

is lock stitch for motion. 

(j) Post bed single needle machine is used to 2 

stitch flat component. 

2 .  

2 
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SECTION - D 

7. 	Long answer any one : 	 20 
(a) Explain in your own word's for selecting 

thread in relation to needle size. 

OR 

(b) Write the sequence of operation of slip on 
shoes. 
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(r zwt ar 	 7.5x4=30 

2. qi.ci fuf4 I 	 7.5 

3. f7T7T1 1747 "4 ch14-1 	.1 4-14{ 	TIMT 	F-1 1.1 	7.5 

cvil 14 fffrR1-4 I 

4. *4)1* 	rc 	r t? 
	

7.5 

5. ta&th-144ztraT7Tt? 	 7.5 
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6. 	-1 4-1 	-4 Fre (T) aieTT 7r-Hff (7) 	10x2=20 

(a)  2 11m Tif 	cW-1-) r 1I 	ct 

yap 

(b)  f-*7:ft 9.11 T*-* 	alTrig7 	fart TriTzr 2 

4c115 TIFIT lifVWF 	t 

(c)  ft cir 	cilcb ct*if TIT 3c-d1 f c I 	cb(-ir 

ti 
tcn tr 2 

(d)  dra ft=r-OT- • 4)44 	311-T 3TfiTT '44 34f4T 2 

n1-r zip Omil1 

(e)  AW9-1-9.  fq-01-1 ci--q ftMt t I 2 

(f)  f 	T 	(-11-14 3 31.97 r 	i 2 

rt 	dc41ft:--  

(g)  777 	714.714. 2 

-q-rr--7 

(h)  f r 	WTI 	3 	ati{ OT cw-h) -{4 2 

'1"ft:E0-r1 3113- 7ft I 

(i)  -1:107 #E0T1t- 1 2 

(j)  fi:Err 	 4 1:0"? 2 

1 	i 	if I 
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7. 	Icho? TW'N'TIff z91-1-74 R-f 	ddk : 
	

20 

(a) Til .k 	3TITIR qT4 t -via t .41. -4 31-9-4 
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aTerdT 

(b) fir 3-TH -kro 4) cro-Nog 31fszrr t fFftiir I 
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